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QUESTION BOOKLET
This question paper contains 170 questions. /$F I T H 170 TH & |
All questions are compulsory. / Tt I3 31f4ard & |
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1.  Which of the following is not a lymphoid tissue ?

(A) Spleen (B) Tonsils (C) Appendix (D) Thymus
ﬁtr%n%‘rl o I AT T e Tal g ?

(A) T (B) aifew| (C) wifesm (D) uTEHd

2. A person with sickle cell anaemia is

(A) More prone to malaria (B) More prone to typhoid
(C) Less prone to malaria (D) Less prone to typhoid
T TR a1l SAih

(A) HATET 3 Wi 3T T BT 2 | (B) TSHITS o fd 311eeh Y9 a1 & |
(C) T F UM FAITIEAME | (D) ITEHISS o Ui T YT &A1 2 |

3.  Antigens are present

(A) Inside nucleus (B) On the cell surface
(C) Inside cytoplasm (D) On nuclear membrane
TS 3
(A) H5HH 3R (B) hITITehT HaE W
(C) HITTeT 559 % 3ET (D) hgeh foecht W
4.  Disease associated with secretion of toxin is
(A) TB (B) AIDS (C) Tetanus (D) Food poisoning
o FAU § FEd S 8
(A) s (B) TgH (C) feemm (D) WS ferseran
5.  Excessive consumption of alcohol leads to
(A) Loss of memory (B) Cirrhosis of liver
(C) State of hallucmauon (D) Suppression of brain function
31T oh HTTIh ITHIT I
(A) TR WHT (B) Ihd 1 feiTed
(C) faym = sraeen (D) HfeTsh SRl w1 0y
6. Increased asthmatic attacks in certain seasons are related to
(A) Low temperature (B) Hot and humid environment

%‘%an‘mlg fruits preserved in tin containers (D) Inhalation of seasonal pollens
e T 3TEYHT 5 AT hl 91 Ga19d 8

(A) = qumm 8 (B) TH & 3T, STATIROT &

(C) fAwiduffia e @R @ (D) Hiod oIl o 37d.3984 9§
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7. The interferons are

(A) Antiviral proteins (B) Antibiotic proteins
(C). Antigenic proteins (D) Antibacterial particles
(A) TaTse S (B) Ulismitiesh St

(C) Wi uri| (D) TSFRITES féshed

8.  Amphetamines are
(A) Na;co%ics (B) Sedatives (C) Stimulants (D) Hallucinogens

(A) @HUH (B) U= (C) 3&ush (D) faywe
9.  Bovine spongiform encephalopathy is a disease caused by prions in a
(A) Man (B) Potato (C) Cow (D) Sheep

(A) gevd (B) lH (C) MaH (D) WS H

10. Which of the following is an opioid drug ?
(A) Heroin (B) Cocaine (C) Hashish (D) Charas
H ¥ M H ThT 8w iy B

(A) B (B) hiehd (C) shm (D) =™

11. Metastatis 1s associated with

(A) Malignant tumour (B) Benign tumour

(C) Both (A) and (B) (D) None of these

YA T §

(A) A (B) GeH IgE

(C) (A) 3T (B) g (D) T8 | HIg T&
12. Athlete’s foot disease is caused by

(A) Rickettsia (B) Candida albicans

(C) Tinea capitis (D) Tinea pedis

U i gTe SERT fohereh g et 8 7
(A) feefernr (B) hiser sifesrshm(C) dfan ssfufem (D) fan ufew
13.  Which of the following is associated with smoking ?
(A) Bronchitis (B) Lung cancer (C) Emphysema (D) All of these
[ § M 91 Yo § FEld g ?
(A) WEAMY  (B) B$HSHIHW (C) aaehifd (D) ot

14. Lysine and Tryptophan are

(A) Proteins (B) Non-essential amino acids
(C) Essential amino acids (D) None of these

(A) I (B) 3HTEEh THAT 37t

(C) 3TavTeh THHT 310 (D) 8 O His &l
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15.

16.

17.

18.

19.

20.

21.

22,

Which of the following is a marine fish ?

(A) Rohu (B) Hilsa (C) Catla (D) Common carp
freferfiea o & =9 o veefi 37

(A) Tg (B) Tean (C) haa (D) 9T %
Which of the following is a disease of poultry ?

(A) Anthrax (B) Pebrine disease

(C) Ranikhet disease (D) Foot and Mouth disease
frferfiaa & |, 9 @1 A Fape HI R ?

(A) T (B) USHIM  (C) TMEaWm (D) 9Ed g@ W

Mule is a product of

(A) Inbreeding (B) Mutation
(C) Recombination (D) Interspecies hybridisation
Y={

(A) AT R (B) SANEdTH (C) TEASH I (D) SIS HehoT ht
The world’s highly prized wool yielding ‘Pashmina’ breed is

(A) Sheep (B) Goat

(C) Goat-sheep cross (D) None of these

fova 61 we@ Tt 39 TR Y S arel! Jdfd 3

(A) WS (B) sl (C) SHU-9g THY(D) 378 O His &l
‘Norman Borlaug’ is associated with

(A) Blue revolution (B) White revolution

(C) Yellow revolution (D) Green revolution

A7 ST Heferd 8

(A) feftswifld (B) vaawmifa  (C) did i (D) i@ shifd

The ability of plant cells to regenerate the complete plants is known as

(A) Totipotency (B) Pleuropotency (C) Cell cloning (D) Tissue culture
UTEY ShITITShISAT <hl qUT qTGH JHECTICd hid hi &THAT healTd! &

(A) 2EMEH  (B) wUiH  (C) SAFAT (D) Ty e

Bull’s semen is stored in

(A) Ice (B) LiquidN, (C) Liqud CO, (D) Liquid O,
gig o1 <1 g fopan S 2

(A) FhH (B) Z@N,H (C) 3@ CO," (D) 3d8O0,H
Pebrine 1s a disease of

(A) Cattle (B) Silk worm (C) Hen (D) Fish
Yerlie fopEemT AT 2 7

(A) Tasft (B) WA (C) it (D) Ul
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23.

24.

25.

26.

27.

28.

29.

30.

The best milk breed in the world is

(A) Chittagong (B) Deoni

(C) Holstem Friesian (D) Sindhi

feresl © Helia g9 e %A B

(A) T (B) &

(C) B -hifam (D) Tt

Blindness prevented by use of which crop in poor country ?

(A) Goldenrice (B) Wheat (C) Maize (D) Oat
TS 1 § fohd et o SN I STcd Sl UhT I & ?

(A) Mo TH - (B) T (C) weHI (D) %

Heating milk at 65 °C followed by sudden cooling is known as
(A) Sterilization (B) Preservation (C) Pasteurization (D) Fermentation
T4 I 65 °C T IH HTeh qLd 381 T HgATdl &

(A) SEUEEE  (B) 9iRe (C) urgleor (D) fepuad

The most commonly maintained species of bee by bee keepers is

(A) Apies mellifera (B) Apies dorsata
(C) Apies indica (D) Apies florea

TYARE Tt 13T g UTefl ST aTell HeHeRell <hl Getfersh Q=1 ST 8

(A) TS HeedTh (B) WS SHa  (C) TS siesht (D) TS weliian
‘Jaya’ and ‘Ratna’ developed for green revolution in India are the varieties of
(A) Maize (B) Rice (C) Wheat (D) Bajra
WA | i shifd o foTu foepfda S 3 T’ et @

(A) TFhT i (B) I@@H  (C) TEH (D) ST

Apiculture is associated with which of the following groups of plants ?
(A) Grapes, maize, potato (B) Sugarcane, paddy, banana
(C) Guava, sunflower, strawberry (D) Pineap le sugarcane strawberry

HYHeRE - —qrer el % Frefriad 1 & fhe wgg 3

(A) 3T, TIFHI, 3T (B) I, 9, %h?n
(C) 39Es, ?L{Gﬂj@ﬁ, T (D) IF=TE, T, TIek
Breeding crops for improved nutritional quality is referred as
(A) Biomagnification (B) Bioremediation
©) Blofortlﬁcatlon D) Biomining
o ToTU IS w8 <l gl a1 3
(A) a@ﬁwﬁm (B) wRIRAfSATH
(C) STATRITEtheheH (D) STEmETEHT
Which of the following Bt crops is being grown in India by farmers ?
(A) Maize (B) Cotton (C) Brinjal (D) Soyabean
feparT1 g 9 | frefetRaa o & & €Y Bt B8et 3TS S &t
(A) HeFhI (B) U™ (C) &M (D) BRG]
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31.

32.

33.

34.

3S.

36.

37.

38.

Production of Vinegar is by
(A) Aspergillus (B) Pseudomonas (C) Closteridium (D) Gluconobacter
fTeh o1 3T Bl
(A) THNEE g (B) REHHE g (C) FARRIEMEH (D) ehHIsERL gl
Golden rice is a genetically modified crop where the incorporant gene is
meant for biosynthesis of

A) Vitamin A (B) VitaminC (C) Vitamin K (D) None of these

S TSH Ueh STANIehd: TR Boel &, Sal THIE S SHeh S —HYeisuT o fofu ardT 3
(A) fefimA B) fweifmc () fefmK (D) 30 @+ &l
Which of the following is variety of Brassica ?

(A) PusaSwamim (B) Pusa Guarav (C) Pusa Kamal (D) Both(A)and(B)
freferfaa & & i =t sifte 6 e 27

(A) T (B) TG (C) TR (D) (A) 3R (B) I
Heterosis is

(A) Hybrid vigour (B) Pollen sterility

(C) Pollen-pistil incompatibility (D) Hybrid compatibility

(A) TR A (B) T ST

(C) WrT-Tfiehet AN (D) weR fe=ran

Probiotics are

(A) Cancer inducing microbes (B) Safe antibiotics
C) Live r%icrobial food supplements (D) Food allergens
(A) HER I H Il ST (B) guera ufeaifarss
(C) HSita ST @ I&h (D) G T

An organism used as a biofertilizer for raising soyabean crop is

(A) Azotobacter (B) Azospirillum (C) Rhizobium (D) Nostoc
TRTS B 3hi I oh TTT SId Jaeh o &9 H T 9119 &

(A) TR (B) TAWRERe™ (C) UsSife@® (D) A

To speed up the malting process in brewing industry, the growth hormone used is
(A) Auxin ~ (B) Gibberallicacid (C) Kinetin (D) Ethylene

IRTE I H Aifee Tfsham i 1id ¢ % T T4 Jfg 81 8

(A) 3o (B) Toericrr (e (C) whrgHled (D) 3UTEeH

Lactic acid bacteria grow in milk and convert it to curd and improve its

nutritional quality by increasing

A) Vitammn A (B) Vitamin B, (C) Vitamin B; (D) Vitamin Cand A
e AT 28 i 9fE F 5 3 I8 <A & TR w3 & e s

grfores TureT § ! TGt Jhg hLd & |

(A) foafim A (B) faw@f@B,, (C) fwe@B, (D) @R C3RA
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39.

40.

41.

42.

43.

44,

45.

46.

An alga which can be employed as food for human being is
(A) Chlorella  (B) Ulothrix ) Polvsmhonla (D) Spirogyra
T ST, Gﬁ%nﬂa%m@m%ﬁw% SI<h &1 Hehdl &, &

(A) TR (B) el (C) Wferamgwifan (D) TR

Microbe responsible for converting milk into curd 1s

(A) Penicillium (B) Aspergillus
(C) Saccharomvces (D) Lactobacillus

S9 %I T H IRANIA i o fo7g [THgR qamsid o
(A) UEiferm  (B) wHie®  (C) #hUwmiiE (D) o™

Cheese maturation is connected with

(A) Aspergillus oryzae (B) Aspergillus niger

(C) Penicillium camembertii (D) Penicillium chrysogenum
<t afteRaT geted 8

(A) THSerd JEsH 9 (B) TS SR O

(C) ufeiferam huwrdf @ (D) Uty shrafe o
Citric acid is obtained from

(A) Aspergillus niger (B) Polyporus sp.

(C) Penicillium notatum (D) Saccharomyces cerevisiae
qrgfes El%l‘s’ YT BT &

(A) THRSTeE TR g (B) diferdid w=ft. &

(C) UfEiferam Jiden 9 (D) HhumTsiae Tfeeht o

Which of the following are used in gene cloning ?
(A) Nucleotldes (B) Lomasomes (C) Mesosomes (D) Plasmids
ﬁﬂ%ﬁ@‘dﬁ@f I ST FAFT H T B & ?

(A) IfeeEeEed (B) am@E  (C) HEmmd (D) wrsued

Gene amplification using primers can be done by

(A) Microinjection (B) ELISA

(C) Polymerase chain reaction (D) Gene electrophoresis
T TENT oL S TPAT(theh T Tehieh g fohalT ST Hehell 8 7

(A) HIShHISSHA (B) wferam .

(C) WfTHS et JafHfshan (D) A AgA-hUT Ao

Viral genome incorporated into host DNA 1is called

%!3 Prophase (B) Prophage (C) Bacteriophage (D) None of these
DNA T I 918t SHH shagdTd] ’

(A) THE (B) JIha (C) sFAfE%S (D) 30 & I8 T&l

Chemical knives of DNA are

(A) Endonucleases (B) Polymerases
(C) Ligases (D) Transcriptase
DNA%B RIS Tk &

(A) TEfaeTad (B) dUifered (C) wmsied (D) crafsreed

Code No. : C-514/2018/Series-A 8



47.

48.

49.

50.

51.

52.

S3.

54.

In RNA1, genes are silenced using

RNAi #, ST Teheeh! s ot T T 8 2
(A) ssDNA (B) dsDNA (C) dsRNA (D) ssRNA

To confirm ELISA for AIDS, which of the following is used ?

(A) Western blotting (B) Northern blotting
(C) Southern blotting (D) Eastern blottin
@%Wﬁmﬁg@%@ ffoiRad o § foree! W@m%?

(A) I AT (B) Afed sAffen  (C) TT3eH saAie (Dj S SN

Which is used for preparation of bread ?

(A) Saccharomyces cerevisiae (B) Lactobacillus sp.
(C) Streptobacillus sp %D) Aspergillus sp.
agﬁﬁaﬂﬁ%%m%aeblmﬂﬂaml ‘

(A) T3 T (B) wieRiafyerE ot
(C) Wiafaad &, (D) THSaE &,
Meat is a good source of

(A) Protein (B) Iron

C) B complex vitamins (D) All of these
e ferdert 309 €Id & 7

(A) S . (B) e

(C) B wireie feerfig (D) A Tt

Highest egg producing state in India is

(A) Punjab (B) Tamil Nadu (C) Uttar Pradesh (D) Andhra Pradesh
YA § G 31Ul IcTeeh U 8

(A) oS (B) dferTg (C) SIS (D) Y Jew

Who is the father of white revolution ?

(A) M.S. Swaminathan (B) V. Kurien

(C) C. Subramanyam (D) None of these

3T ST ST ST i @ ?

(A) TH.UH. WIHATR (B) . B

(C) &i. gomvem (D) T ¥ I T

Which of the following is known as ‘poor man’s cow’ ?

(A) Sheep (B) Buffalo (C) Chicken (D) Goat
H3% Th e hT FEe 27

(A) 93 (B) ¥4 (C) ¥t (D) =Rl

First Veterinary college in India was started at
(A) Bombay (B) Kolkata (C) Chennai (D) Bangalore
A B e u3] - Fafohean maifermer™ TRy g3 o

(A) =S (B) hictehldT (C) =8 (D) TR

9 Code No. : C-514/2018/Series-A



5S.

56.

57.

58.

59.

60.

61.

62.

63.

Double ceaca are present in
%A) Plg (B) Fowl (C) Horse (D) Cow

(A) wﬁ (B) FEecd  (C) ieH (D) = H
Mastitis in cattle is commonly caused by

(A) Bacteria (B) Vlrus (C Fungi (D) Mycoplasma
AT T TR0 |HIIG: foheeh gRT gl

(A) Sfteroy (B) ferwyg (C) e (D) HTSRIATSHT
Which of the following is smallest free living organism ?

(A) Vlrus (B) Bacterla (C) Fun%
{‘I®|H @Idl qh Sfe 9= °h{"| dlcl SiE I"IHIC’II{Q('I 'g <h[H Hl

(A) fommy (B) Sftamy (C) = (D) HTEhITT ]
‘Let down of milk’ is initiated by which hormone ?
(A) Prolactm (B) Lactogen (C) Oxytocin (D) Lactopoietin

QQW RGILCIE |°h{-I S gl JH sldl %
(A) Urtfaed (B) oiFISH (C) eI (D) emnfed

(D) Mycoplasma

Myopia is
(A) Shortsightedness (B) Farsightedness
©) Normal vision (D) Squint eye

(A) ﬁwgﬁ?aﬁr (B) ggfEaw  (C) &m=IgfE (D) wm

Which of the following is a fine wool breed ?

(A) Merino (B) Rambouillet (C Polworth (D) All of these
H E M H IhE H IS T

(A) TfEr (B) twelEeie (C) q)aa@i (D) A Tt

In human milk the major factor concerned for germicidal action is

(A) Compliment (B Leucocytes (C) Lysozyme (D) Bifidus factor
HIS g4 H SITIATRIT {oha o fof Heferd 4ed ih

(A) ®cfde  (B) whEEed  (C) ABANREH (D) SiEihed hac

The quality of which of the following milk products is affected by the
presence of bacteriophage in milk ?

(A) Khoa (B) Ice-cream %C Cheese (D) None of these
e & foRereh Ture g & T S Bt 8 7

(A) @i3T (B) 3msEmshm  (C) =W (D) 0 O HIs &l

Hallikar is a breed of

(A) Cattle (B) Sheep (C) Goat (D) Pig

gTeetient fehdehl &t 8 7

(A) wasft (B) ¥ (C) =il (D) 3R

Code No. : C-514/2018/Series-A 10



64.

65.

66.

67.

68.

69.

70.

71.

White leg horn is a poultry breed kept for

(A) Egg (B) Meat

(C) Both (A) and (B) (D) None of these

RTEE 1T B Toh Fefepe & &, Sf1 Tl STl B

(A) 33 ferg (B) =& % forg

(C) (A) 3 (B) g (D) ¥ ¥ I3 &l

Which of the following is the organ of detoxification ?

(A) Liver (B) Gall-bladder (C) Spleen (D) Pancreas
freferiea & & = & ffadiento 1 3 g ?

(A) IHd (B) fomimer (C) it (D) AT
Energy metabolism needs

(A) Vitamin A (B) Vitamin B-complex

(C) Vitamin D (D) Vitamin K

Sl JUTI= B SATEYThdT Bl &

(A) faafim A (B) Tererfim B-spirre

(C) faafim D (D) T K

Milk sugar is

(A) Lactose (B) Maltose (C) Glucose (D) Sucrose
T IHT B

(A) R™E (B) wiee™ (C) Th™ (D) g

Wallowing is the characteristic of

(A) Cow (B) Buffalo (C) Sheep (D) Horse
AT (TS fondent waor 3 2
(A) T (B) ¥ ©) ¥ (D) =gl

Compounds are always

(A) Homogeneous (B) Heterogeneous(C) Impure (D) None of these

(A) =t (B) formmmt ©) s (D) &¥H g &

A positron is nearly as heavy as a/an

(A) Alphaparticle (B) Proton (C) Electron (D) Deutron
Teh UitoTe fehteh TRTHIT | WY 8Ia1 8 7
(A) JHTHI  (B) WEH (C) sl (D) ¥4gH

What is the fuel of atomic pile ?
(A) Thorium (B) Uranium (C) Radium (D) Petroleum
T IS 1S9 91 8 ?

(A) anfeEm (B) Jifrm (C) Ugmm (D) udiferaH
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72.

73.

74.

75.

76.

77.

78.

79.

80.

Which of the following is the strongest acid ?

(A) Isobu cac1d (B) Propionicacid (C) Formic acid (D) Acetic acid
[ & i T SeelH 37 7 7

(A) ST 3T (B) Wift=ifaes amat

(C) ifHe 30 (D) uHifew 3

Glucose is a/an

(A) Aldohexose (B) Aldopentose (C) Ketopentose (D) Ketohexose

Th
(A) TERHS  (B) TeeMes  (C) ®RMEN (D) RS
When bread is toasted, much of its starch changes to

(A) Dextrin (B) Maltase 3%\C) Maltose (D) Dextrose
S SIS i I ST AT &, d9 SHehT giEfad giar &

(A) S (B) Hees (C) = éla (D) SIS

The Jelling of juice in overripe fruits is due to the presence of

(A) Glycogen (B) Cellulose (C) Gum (D) Picric acid
3T Teh Hell H S T St ST Tehereh! ITTEATT 3 SHIUT BIAT & ?
(A) ©EhEH - (B) ¥ (C) ™ (D) fufshen uftre

Which of the following is the ideal temperature range for tillering stage in
wheat ?

g o S1q 37l o fofe 31reet arquH wE fefafea s ase g ?

(A) 10-15°C (B) 16-20°C (C) 20-23°C (D) 23-25°C

The fruit of rapeseed and mustard is known as

(A) Pod (B) Grain (C) Siliqua (D) Caryopsis
T 3R T o B HgaATd @

(A) eft (B) 3= (C) famshi (D) Hitarieed
The oil and protein content of groundnut are respectively

(A) 20% and 50% (B) 26% and 45%

(C) 45% and 26% (D) 50% and 26%

et < de 3R IEH T W Bid! & ShAs:

(A) 20% 3R 50% (B) 26% 3R 45%

(C) 45% 3R 26% (D) 50% 3R 26%

Which vegetable oil is good for heart patient ?
(A) Groundnut oil (B) Mustard oil (C) Soyabean oil (D) Sunflower oil
7 Wit & foTu 9 o1 aeafa aa =12 7

(A) YThefi ddd  (B) &l ao (C) g dd (D) TEHE! aa

‘Pungency’ in chilli is due to presence of

%E)f Cagsaucm (B) Sulghur C) Am1des (D) Magnesium

(A) Huafam (B) HeH (C) qmsg (D) "ifsem
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81.

82.

83.

84.

8S.

86.

87.

88.

89.

Kinnow is basically a

(A) Tangerine  (B) Tangor (C) Mandarin (D)

fehri1dl & TeTd: Th ‘ ‘

(A) A (B) MR (C) #efA (D)

Redness in apple is due to

(A) Xanthop\hyll (B) Carotene (C) Lycopene (D)
ATAYA [ehd <h[{Y] SI(‘II %?

(A) S (B) HUSH (C) @ (D)

Fruits are blanched before canning at

(A) 80°C (B) 90°C (C) 100 °C (D)

fesaTedl @ 45 Bt Tohd &

(A) 80°CW (B) 90°CW (C) 100°C9t (D)

Generally seedless watermelon is

(A) Diploid (B) Triploid (C) Tetraploid (D)

T Seigd e

(A) fafor (B) v (C) =gifr (D)

Seedlessness in lemon is due to

(A) Self incompatibility (B) Parthenocarpy

©) Parthenogenes1s (D) Ovule sterility

i # soRfgqar frd RO Eid 8 7

(A) @AY (B) AfWe®Hed  (C) AfNSH (D)

Which crop is known as vegetable meat ?

(A) Pea (B) Cowpea (C) French bean (D)

9 T HHeT TTATd HIE o TTH H A STl g ?

(A) TX (B) eAiferm (C) HUHEH (D)

Garlic contain which amino acid ?

(A) Alliin (B) Allicin

©) Dlallyl disulphide (D) Allinage

TG H M 91 U 37 I & ?

(A) Tered (B) uferfe

(C) ST SUCHISS (D) Ul

Oxidation is related to

(A) Fat (B) Carbohydrate (C) Protein (D)
T LEIRGE

(A) T|TH (B) ®WEEgEH (C) TEHHE (D)

Megalopa is associated with

(A) Octopus (B) Starfish (C) Prawns (D)

LEIRGE
(A) JfR™E  (B) WRGH (C) fim (D)

13 Code No. : C-514/2018/Series-A
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90.

91.

92.

93.

9.

9s.

96.

Chitosan is

(A) Polysaccharide (B) Polypeptide
(C) Polycyclic aromatic hydrocarbon (D) Polyester
(A) TfcTachse (B) wferueres

(C) Wferamafaess wWafes gggieEq (D) feTre

Which among the following microorganism is used as biofertilizer ?
(A) Rhizobium (B) Bacillus (C) Pscudomonas (D) E. coli
T 8 I AT GES T S -3Ih o &9 § T a1 8 7
(A) Tsslifsrm (B) dfoe™ (C) WEHAE (D) 3.%IeTs

tRNA synthesis is done by

(A) RNA polymerase | (B) RNA polymerase II
(C) RNA polymerase III (D) All of these

tRNA HYTOT fehaT ST 8

(A) RNA Tife/mis [ gH (B) RNA Tifeis 11 g
(C) RNA WIfeTs 11 gr (D) J @t

DNA replication is

(A) Conservative (B) Semi-conservative
(C) Both (A) and (B) (D) None of these
DNA wfcefd &

(A) uiEdEh (B) aref-ufad=reft

(C) (A) 3T (B) T (D) ¥ & HE T

Virus free plants can be obtained by

(A) Meristem culture (B) Pollen culture

(C) Ovary culture . (D) Shoot tip culture
fereToy 77k el e fohal ST Hehd! & .

(A) Ty g g (B) RN AL g

(C) ISHE TaEH g (D) g 3N Hae g
Which plant is used for bio-diesel production ?

(A) Jatropha (B) Soyabean (C) Hevea (D) Wolfia

S -EIoTe IcdTeH % foTT =hi= &1 dte Th BT 8 ?
(A) J2rHT (B) dRTEH (C) =fasm (D) aifewa

Which among the following is released in photorespiration ?

(A) Serine (B) Cysteine (C) Proline (D) Tryptophan
JehTeT Y § feferfga 0 8 R ek glar g 7
(A) &= (B) f&=m (C) Wief= (D) feeid
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97.

98.

99.

100.

101.

102.

103.

104.

Which vector was used for development of hepatitis vaccine ?
(A) pBluescript (B) PUC 18
(C) Cosmid (D) Yeast expression vector

Teuersfer Sk o ferepra = foTu soi9 @1 It Ik BlaT 2 7

(A) p<it&F= (B) PUCI18  (C) =ide (D) e ToRTRH 9o
Bioreactors are used for

(A) Production of ehanol

(B) Production of enzymes on large scale

(C) Production of cell culture on large scale

(D) All of these .

STITCUFeR fohEeh foT yoh Bd 8 7

(A) 3AATSA b IcTEH (B) < YU WX USATZH ST IUTEH
(C) ¥ UgH WA Fad H 3 (D) 3 weft

Adsali sugarcane planted in

(A) June—July (B) Dec.—Jan (C) Feb.—March(D) None of these
JTCHTEA =T AT ST

(A) F-FEEd  (B) feEs-sFali®(C) wEl-"d (D) T & HS

Epigeal germination is found in

(A) Pea (B) Gram (C) Cucumber (D) Mango
3TN ITAT ST &

(A) T H (B) =1 H (C) & (D) WA

Inflorescence of cauliflower is called

(A) Catkin (B) Head (C) Curd (D) None of these
ST IST5HT HEATIT & 0
(A) efera (B) @ (€) e (D) T & IS &

Development of embryo without fertilization is

(A) Apomixis (B) Parthenocarpy (C) Amphimixis (D) None of these
EEEERUED

(A) TaffeEd  (B) WeARRMT  (C) wEhifmfeEE (D) H € @IS TEl

Male sterility is used to develop

(A) Inbreds (B) Hybrids  (C) Synthetics (D) None of these
T ST 1 I9ANT Tohd forehfird ot | grar 8 7

(A) JFA@IEd (B) HH (C) @fvets (D) 0 O HIs &l
First antifungal antibiotic is

(A) Nystatin (B) Cycloheximide

©) Aureofungin (D) None of these

T Yciehaeh Jldaiiaeh &

A) f=fe (B) HEFARFHIHES

(C) FATEBRE (D) 3T & IS Tl
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106.

107.

108.

109.

110.

111.

112.

113.

Yeast are

(A) Gram positive (B) Gram negative
(C) Gram variable (D) None of these
TR (A=) 3

(A) Imuifdfes  (B) Imfifea  (C) IMdRuaad (D) T § IS &l

Fermenting organism in Yoghurt is

(A) Streptococcus (B) Aspergillus
(C) _Podiococcus (D) None of these
A i v o1 3

(A) K¥<hd  (B) THRhiaE  (C) Wifsdhrhd (D) 3H 9 IS T8l
Which of the following B group vitamins can be stored in our body ?

(A) Vitamin B]Q B) Vitamin B, (C) Vitamin B, (D) VitaminB,,
frefaRad 5 9 o & f 99g foafin s SR H TR gl ¥hd & ¢

(A) feafmB, (B) fwf@B, (C) fee@B, (D) fe @ B,
Which of the following carbohydrates are branched polymers of glucose ?

A) Amylose . B) émylopecgin (C) Cellulose = (D) None of these
Wg-!tr%rﬁa‘dﬁﬁ I H FHIEIEISSE TTIh ST o IR TG & ? 0

(A) THTECA (B) wHRECfFA (C) A (D) T H hIg TE
The human body does not produce

(A) enzymes (B) DNA (C) vitamins (D) hormones
e IR 3= T il &

(A) TSTEH (B) DNA (C) foerfm (D) BHH

a-D(+) glucose and B-D(+) glucose are

(A) enantiomers (B) conformers (C) epimers (D) anomers
a-D(+) RIS 3R B-D(+) RIS &

(A) TIRREM  (B) I (C) W (D) TR

Biuret test is not given by

(A) proteins  (B) carbohydrates (C) polypeptides (D) urea

gdigror 8l fea ST @ A

(A) TEH g (B) <helgIsge gl

(C) difeTIrss g (D) i@ g

Which of the following reduces Tollen’s reagent ?

(A) Cane 5?%:[ % ;?rch N ©) G;u{%c_)[sg? (D) All of these

(A) S@-HT (B) ®RHE (C) TN (D) ¥ &t

Which of the following is a water soluble vitamin ?

(A) Vitamin A (B) Vitamin B, (C) VitaminD (D) Vitamin K
H DM IS gvH-*eﬁcf} %l?ﬁ%‘-!%?

(A) feafm A (B) fe@@B, () fee@D (D) feafAK
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114. Which of the following is non-reducing sugar ?
(A) Glucose (B) Sucrose (C) Maltose (D) Lactose
T Y i H IR IR & ?

(A) TFE (B) A (C) Wees (D) AR
115. Thiol group is present in

(A) Cysteine (B) Cystine (C) Methionine (D) Cytosine

(A) faemza s (B) A (C) fafrimd (D) e d
116. 2-Acetobenzoic acid is used as

(A) Antimalarial (B) Antidepressent

(C) Antiseptic (D) Antipyretic

2 -THICISNIge TS foheh €9 H Ygwh BT & 7

(A) WmafEa (B) TWifewdie  (C) wEfes (D) Wiumsties

117. Which of the following is employed as Antihistamine ?

(A) Chloramphenicol (B) Omepyrazole

(C) Norothindrone (D) Diphenyl hydramine

fererfefia o & s o1 wdifewerie o &9 H s § < A e 7

(A) FARTHHHIA (B) 3THUEEA

(C) TRfRFEgH (D) SHEfhTES BEgii
118. Chloramphenicol is an

(A) antifertility drug (B) antihistaminic

(C antlseptlc and disinfectant (D) antibiotic — broad spectrum

FARTH (bt & Teh .

(A) wwdifad g (B) wifeweratieh

(C) Ui 3R femshade (D) TAERICH-5Tg WA

119. Artificial sweetner which is not stable at cooking temperature is

(A) Aspartame (B) Alitame (C) Saccharin (D) Sucralose

I AY 1 foh ikt o R R T8 &, 8

(A) e (B) Ufeew (C) dHfe (D) ke
120. Which one of the following is employed as a tranquilizer ?

(A) Naproxen (B) Tetracycline

(©) Chlophemnamme (D) Equanil

o = T Y=ok o €9 § 1T H AT ST & ?

(A) =uSH (B) gEBE  (C) FABHATEA (D) 3ofd
121. A Harappan site near the Iranian border is

A) Surkotada (B) Sutkagendor (C) Alamgirpur (D) Rojdi

é'rr—! I FHT < 9T TSWT T §

(A) gThieel (B) gehrigk  (C) ARG (D) USEl

17 Code No. : C-514/2018/Series-A




122.

123.

124.

125.

126.

127.

128.

129.

The first systematic and philosophical treatise on Buddhist doctrine,
‘Visuddhmagga’ was written by

(A) Vasumitra (B) Ashvaghosha(C) Dignaga (D) Buddhaghosha
Sig forem e ﬁagqsrﬂaﬂasha—m “Torgga’ feram forar en?

(A) Tgfr (B) smaEm  (C) femm (D) g
Which of the following Vedas dealt with rituals ?

(A) RigVeda (B) SamaVeda (C) YajurVeda (D) Atharva Veda
frferfiga & & =9 |1 dg s O TEfa 7 ?

(A) g (B) wmelg (C) eI (D) FYeIg

Humayun lost the Mughal empire to Shar Shah Suri finally in the battle of

(A) Chunar B) Chausa _  (C) Ghaghra = (D) Kanauyj
TR A g HTHTST Tl = BT 31qq: fopdt Ig 1 7ol fgmm em?

(A) TR (B) =& (C) == (D) =S
Who was the foreign traveller who came to the court of Jahangir ?
(A) Thomas Roe (B) Bernier

(C) Tavernier_ (D) Thevenot and Careri
STEITR oh SR | 3T aTetT forceht A ik 41?7

(A) gmE T (B) wfmR (C) daffmr (D) aie g B

The President of the ‘National Liberal Federation’ was

(A) W.C. Banerjee (B) Lala Lajpat Rai
(C) G.K. Gokhale (D) S.N. Banerjee
T foTeiet Hhele’ & 37e9e 9

(A) S HI. SFA1 (B) ATAT AT T
(C) .. MEel (D) TH.TH. S

Who was the first Deputy Prime Minister of India ?

(A) Krishna Menon (B) Acharya Kripalani
(C) Vallabhbhai Patel (D) Maulana Azad
YT °h T 3 TEHHT A o 7

(A) FOMHTH  (B) IR FIAH (C) FeomHE U (D) HIAHT 3TSE

The first modern industry to develop in India was

(A) Cotton textile industry (B) Iron and steel industry
(©) Errl\gin(gerin industry (D) Cement industry
WId | forenféra ﬁ% ST 9 1Y JTNT o1
(A) Felt = sam (B) ®fTel o gTq S
(C) ARFATH I (D) HiHe &M
Which of the following are the most destructive earthquake waves ?
(A) Primary waves (B) Secondary waves

C) Surface waves (D) All of these

T T o Tt gatferes fommereni ey ai & ?

(A) g a@  (B) fgdfmsawt  (0) e (D) 3ot
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130. The reflected amount of radiation, back to space, is called

(A) albedo of the earth (B) insolation

(C) heat balance of the earth (D) None of these

JATHTI T 19 ST areft fafertor ) wafda aen seard 8

(A) gt =t Tfesret (B) au

(C) Tt 1 F HIe (D) T & IS Tel
131. The ocean which has the greatest depth is the

(A) Arctic ocean (B) Pacific ocean

(C) Atlantic ocean (D) Indian ocean

TaTfereh TEUs aTell HEETR 8 .

(A) 3Tehicsh TEHNR (B) TRId HEENR

(C) 3TCATEH TEHNR (D) g ggmmR

132. Which is the smallest country in the world in terms of population ?
(A) Monaco (B) Seychelles (C) Iceland (D) Vatican city
SHEE gﬁqﬁﬁwwaaﬁ@a%ﬂﬁqm%?
(A) HHTHI (B) w3eH (C) 3gdcts (D) dfeer &

133. Pelagic fishes are found in

(A) rivers (B) seas (C) openoceans (D) tanks
PRISEREIRPIRIERSI]
(A) T H (B) WIRH (C) SHHHEEFRH (D) drers |
134. The largest producer of silver in the world is
(A) Spain (B) Germany  (C) Mexico (D) Canada
o FTe 1 T TS IcUTEh
(A) &= (B) St (C) ufeash! (D) TSl
135. The national symbol of Netherlands is
(A) tulip (B) rose (C) lotus (D) sunflower
g %1 TP WdfTeh &

(A) e (B) T (C) = (D) FEHEt
136. The most populous country of South-East Asia is

(A) Myanmar (B) Thailand (C) Indonesia (D) Vietnam

SferuT-qd UfRr w1 Tey 31 e 9Tl o §

(A) TMER (B) TSl (C) seRfsEn (D) feorram

137. Which strait separates India from Sri Lanka ?

(A) Palk Strait (B) Palk Bay

(C) Adam’s Bridge (D) None of these
M | TASHEAE I oh HIeTohT ¥ JIeh Hidl & ?

(A) UTeh STTSHEHS (B) Tk @ISl

(C) wew forat (D) T @ %Ig &l
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138. The western littoral between Daman and Goa is called
(A) Coromandal (B) Konkan (C) Malabar (D) None of these
THUT 3T Tﬁain EXCICR: qﬁ%ﬂﬁ qe HgdAdl & ’
(A) ®HUHSA  (B) iU (C) HIATER (D) 0 9 s &l

139. Orisan is a tributary of river

(A) Tapti (B) Godavari  (C) Narmada (D) Krishna
HETIH 61 8 7
(A) ardt (B) e (C) THG (D) o
140. Which of the following dams/projects is not situated in Gujarat ?
(A) Kakrapara (B) Ukai (C)_ Mahi (D) Tawa
T Y T st /g ST o § R TEi 87
(A) HHEET (B) o1 (C) gt (D) dan

141. Part IV of the Constitution of India deals with
(A) Fundamental Rights
(B) Citizenship
(C) Directive Principles of State Policy
(D) Union Executive
WA o A9 1 9T [V i 2
(A) Tiferss aaferepr & (B) ATRhar ¥
(C) T = Hifa e fagra & (D) &= HRUTTeh &

142. The master plan of National Capital Region was approved by
T TS & ShT HTE &I el STHITCd g1 o1 ?

(A) 1959 (B) 1962 (C) 1981 (D) 1996
143. In India, the President is elected by

(A) Direct Election (B) Open Ballot System

(C) Single Transferable Vote (D) Proportional Vote System

RA T TEAfd s=fd g 8

(A) JI& I g (B) Weil HAY= YoTTeit g

(C) Ushdl AT Hdl g (D) SATIHTIe Td JUTTet g
144. The Union Cabinet is personally responsible to

(A) The Rajya Sabha (B) The Lok Sabha

(C) _The President of India QD) The Electrorate

e Hiee foraes Ui AT ®9 8 Sareeg 27 0
(A) T==IE (B) <AIhEMT (C) W & Tgufd (D) fat=m uesa
145. The first woman speaker of Lok Sabha was

(A) Vijay Lakshmi Pandit (B) Sarojini Naidu
(C) Indira Gandhi (D) Meira Kumar
SAIREWT h1 TH HigeT g ol

(A) foro weft dfsa (B) T R=Ig.
(C) e mieh (D) i FAw
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146.

147.

148.

149.

150.

151.

152.

153.

The Liberhan Commission is related to

(A) Fodder scam (B) Administrative tribunals
(C) Babri Masjid demolition (D) Reservation of minorities
foTsTET ST |aferd &

(A) =R =ETe | (B) wem&fTeh feeme |

(C) wTadt gafsre fasw & (D) 3TCIEEIh o TR

When was decimal coinage system introduced in India ?

WA § CIWeTd g1 SUITeH e W] i 715 ?

(A) 1947 (B) 1950 (C) 1957 (D) 1960
The headquarters of RBI is situated at

(A) Delhi (B) Kolkata (C) Chennai (D) Mumbai
RBI &1 &ITeid Hal ferd g 7

(A) feeeht (B) ®@®wm  (C) =3 (D) HeE

The recommendations of Kelkar Task Force is associated with
(A) Banking (B) Taxes
(C) Foreign Investments (D) Business
1l et <hl AT Heferd &
(A) Sfer (B) (C) facsftfaw (D) =yaa™

World Bank helps countries with loans for the purpose of

(A) Reconstruction and development

(B) Stimulating private investment

(C) Tackling foreign exchange crises

(D) Meetlng deﬁc1ts in government budget

foreg o form 35 %%Q%Sﬁﬁ /U7 C¢ohl TETIAT Shidl & 7

(A) gAfmTor 3R ferepra (B) it femr =1 sgran

(C) Tarestt fafamar wehe o1 g (D) TR &SI § ©1ET ST |HAT

Looking at a photo graph, a person said, “I have no brother or sister but that man’s
father is my father’s son.” At whose photograph was the person looking at ?
(A) Hisson’s (B) His nephew s (C) His father’s (D) His own
Teh BIEHTE <hl 3T SEH Ush Hfh chacu% “TY SIS WIS AT 5 T8 8, W 39
=feh o TudT W U < I3 & |” 98 ATk fhHeh! BIeTS <@ 1 o ?
(A) 3GHAH  (B) 3 U &l (C) 3k AT sl (D) @I HI
165135 is to ‘PEACE’ as 1215225 is to
165135 1 319 & ‘PEACE’ 36 TR 1215225 %1 314 8
(A) LEAD (B) LOVE (C) LOOP (D) AURA
If the 2™ half of the English alphabet is written in the reverse order, then find
the 15™ letter from right.
Jfe TSI STUTHTAT BT Tedia 378 Io7 ohA H ToTaT ST, a1 <&l | 15901 37T T <hIfT |
(A) L (B) M <€ J (D) K
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154.

15S.

156.

157.

158.

159.

160.

Which of the following is not an industrial centre in Solan district of H.P. ?
(A) Arki (B) Parwanoo (C) Barotiwala (D) Solan
frefaRad # 9 oM &1 8.9, % "ied el 3 3= g T8 8 7

(A) 3TH (B) WA (C) sMdEen (D) HieH

The second race to enter the western hills of Himachal Pradesh was

(A) Khatris (B) Doms (C) Aryans (D) Kirata
TemTaret et 1 afeaH! vRTieal § SarsT i aret gal STt off
(A) @A (B) e (C) I (D) fTertma

Who was the first Governor of H.P. ?
(A) Lt. Gen. K. Bahadur Singh (B) S. Chakarvarti

(C) Aminuddin Khan (D) M.S. Himmat Singh
TeaTeet Te9T o YW TSI i o 2

(A) . 3. %. IgTgL 413 (B) TH. Tshadi

(C) g T (D) w.wE. femma fiiz

Which of the following titles was not conferred on Raja Amar Prakash of

Sirmaur by the British Government ?

(A) Mabharaja (B) Lieutenant-Colonel

(C) Ambassador of her Highness (D) K.C.LF.

gﬁrérwm%@?% ST 3THL TehTT <hl THTIRId H | i i 3UTf 981 Je
9

(A) TERIST (B) dftedc-oat

(C) THHE 3T e (D) K.C.LF.

The famous Luhnu Ground in H.P. is located at

(A) Bilaspuy (B) Hamirpur (C) Kullu (D) Una
(A) fomaRd  B) #REF (O FAH (D) FOA
Shingo-la-pass is located in which district of H.P. ?

(A) Lahaul & Spiti (B) Kinnaur

(C) Kullu (D) Mandi

T3 —e <t femmeet yew < fopm oot & faa 2 2

(A) @eE 3w fifd(B) TRk (C) el (D) wet
Which is the biggest Airport in H.P. ?

(A) Bhunter (B) Rangreek  (C) Jubbar Hatti (D) Gaggal
feuTae Yoo § ed e fH oA S a1 g 2

(A) &R (B) T (C) Ssgd (D) ™A
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162.

163.

164.

165.

166.

167.

168.

169.

170.

Which Bollywood personality has recently conferred D Litt (Honoris Causa)
by Kazi Nazrul University in West Bengal ?

(A) Sharmila Tagore (B) Aishwarya Rai

(C) Ranl Mukherjl (D) Kajol

fehd STclige SAfthed Wl 1A &1 H UIaH SIS bl sl T96d [Ivaiaee™ g
2t.fere. (Tt whia) shi 3utfr ygm &t 71 2

(A) ¥R (B) tWweEmiw@ (O TAgEsii (D) &N

Which city hosted the Global Disability Summit 2018 ?

(A) New Delhi y%:\q)z Paris (C) London (D) Geneva
2018 bl e ford als{ﬁﬁ‘?
(A) Ts‘ﬁwﬁ (B) Ui (C) wed (D) foman

Which state government has recently launched a plantation drive ‘Green
Mahanadi Mission’ ?

(A) Odisha (B) Andhra Pradesh

(C) Chhattisgarh (D) Maharashtra

fehd T TRHR 3 BT &1 | Yreriaut 1R affa wgmd firsm wiy foram 2

(A) snfem (B) gu@  (C) TG (D) HEWE

Who has authored the book ‘Ahimsa’ which sheds light on India’s freedom
struggle ?

(A) Shantanu Duttagupta (B) Amala Shankar

(C) Supriya Kelkar (D) Nandi Katherla

AT TTd] Fod T YehTST STei dTel! ek AT & of@eh i & 2

(A) WA= (B) WA IR (C) GRRT et (D) ¢ HATE

The prisoner was bound a chain.

(A) with (B) by (C) from (D) on
Meaning of the idiom ‘spick and span’ is

(A) lean and thin (B) neat and clean

(C) honest and true (D) hale and hearty
Synonym of the word ‘Acquiesce’ is

(A) to rest satisfied

(B) not making any opposition to a situation
(C) to disagree

(D) quiet submission

‘3R’ ¥ T ST &

(A) JT] (B) 3t (C) @=1% (D) @=1%

(A) aﬁ_+3—cqﬁr (B) SN +3® (C) F+3d@d (D) I + 3
EECRERIRENL LK

(A) ® (B) #R-#R  (C) 9w (D)
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